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COMMERCE - 11

arforsy - 11

1.

Which of the following is not a criterion
laid down by RBI for NPA ?

(A) Interest on loan taken to purchase
personal assets remaining overdue
for 60 days.

(B) Interest on loan remaining overdue
for 90 days.
(C) Interest on loan taken for long

duration agricultural crop
remaining unpaid for one crop

season.

(D) Interest on loan taken for short-

duration agricultural crop
remaining unpaid for two crop

seasons.

Cost Audit comprises following three
steps :
(a) @

(i) Verification

Identity wastage

(iii) Reformation of cost plans
(B) (@

(i) ~Cost Analysis

(iii) Reporting
© @

(i) Verification

Cost Planning

Review

(iii) Reporting

D) @
(i) Cost Analysis
(iii) Reporting

Cost Determination

frferfiad #f ¥ SAE 7SS RBI ST NPA

=1 Fraffia =& fopan a7

(A) oo a3 4 % fog, faa
T KT WA 60 fet % o =R
el

(B) 01 =T 90 Tl % e, at @

(C) SreimTeia iy wee % fag, @i
mmmwmwﬁ:"ﬁﬂm
e W

(D) STeTETe Hia wEe & fag, o T
U1 T A & EA HEAEE F
ferw svEd WM

mﬁwﬁﬁﬂ%aﬁwé\%%:

(A) @) = fafEd F=T
(i) AT A
(iid) =T AT R AR S

(B) (@) TR R
(i) T O T
() feeEd &

(€ () s
(i) —HETTH
(i) T S

(D) () @ e
(i) WA fergeron HT
(i) Were &
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The difference between ‘Rule of
Communication of Acceptance’, as under
English Law and Indian Law is :

(A) In the position of offerer
(B) In the position of an accepter

(C) Both in the position of offerer and
acceptor

(D) Neither of them

Which of the following is not included in
Job description ?

(A) Working Conditions
(B) Duties
(C) Work Experience

(D) Hazards

Which of the following type of tests
measure practical ability on a specific job,
during the selection process ?

(A) Personality Tests
(B) Knowledge Tests
(C) Work Sample Tests

(D) Intelligence Tests

sft SiR Wl fafy & sfeta, ‘e @
frm' & &g § F fy=ar £2

(A) THaes % yest §

(B) THiwRFal & geat A

(€) Traees it wierewal a4 F veat

(D) T 9 #E T

Freafafes § 9 $va @ faawm & fafeg
R ?

(A) = g
(B) A
(C) gy
(D) ifew

=949 WikaT & 2R frefafag § § $9-T1
T&7o7 1 YR ffee 1w saefi g
! QI € ?

(A) =afeE wam
(B) S wligm

(C) = wfeet gdreqo
(D) Ffs wem
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The extent of closeness among inventory
turnover ratio, debtors turnover ratio and
cash turnover ratio of a firm can be
assessed by using :

(A) Spearman’s rank correlation
coefficient

(B)  Yule’s coefficient of colligation
(C) Kendall's coefficient of concordance

(D) Pearson’s simple correlation
coefficient

Consider the following statements :

(a) Securities are backed by long term
loans with high interest rates.

(b)  Securities are backed by short term
loans with low interest rates.

(c) Securities are backed by accounts
receivable.

(d) Securities are backed by royalty
payments from contracts.

Which of the statement/statements given
above is/are correct ?

(A) Only (a)

(B) (a) and (b)

(©)  (a) (b) and (c)
(D) (@), (b), (c) and (d)

et v &% @y sad eruE, T aned
ST R TS STad ST % wex Frapean
o =1 qeaisa fovan s g #

(A) TR =1 {F Te-dey Ui

frefafea weFl v faar #ifsm .

(a) wlayfadi =, 3= == <l & a1 Sefafy
w1 4 guffa far smr )

(b) wfayfe =+ =1 =9 <0 F Ty
Srearaty ¥ wufefa faam s ¥

(€) W w@i ¥ R wiayfadi # wafda
o s €1

(d)  eTFai | 9 Tt IR e
g1 wfasgfadi =i wafefa fFan s &

SRR 20 T e/ wYA § A R W
/%2

(A) ¥ (a)

(B) (a) 3 (b)

©) (), (b) 3 (c)
(D) (a), (b), (c) ¥R (d)
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8. Marginal utility refers to change in the 8. TiHig Sygifran, fedt awq &1 -
total utility obtained from the ey ¥ 9 Fo Sy o
of an additional unit of a commodity. i g ¥
(Fill in the blank with correct word) (e w1z 3 i v U R | )
(A) Purchase (A) @l
(B) Creation (B) HsA
(C) Production (C) e
(D) Consumption (D) 394m

9, In effective target market, the marketers 9. 9YET WY AR H fagureat =1 @y Ffeq
should focus on : AT
(A) Market targeting (A) ¥R @& 9T
(B) Market positioning (B) @R feufg w
(€) Market segmentation (C) =INR EEH W
(D) All of these (D) 394 |

10. Prescribed E-return form for assessee 10, e 59 ot a9 us s g AT A,
whose income from salary and interest FHE & forg g-fied &g frifa wid &
only :

(A) ITR-1 (A) ITR-1
(B) ITR-2 (B) ITR-2
(C) ITR-3 (C) ITR-3
(D) ITR-4 (D) ITR-4
SPACE FOR ROUGH WORK / T% &T4 % ford s
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11. In case of dissolution of partnership firm  11.

Debit side total of the partner’s Capital
Account is more than its credit side of the
treatment is :

(A)

(B)

©)

(D)

12. Identify the key constituents for 12.

That partner brings Balancing
figure in cash.

His account is closed with balancing
figure.

Other partners pay him the
balancing figure.

Firm pays balancing figure to that
partner.

performance marketing of Holistic

marketing dimensions

from the

following :

(a)
(b)
()

(d)
(e)

(®)

()
(A)
(B)
©
(D)

Customers

Brand and customer equity
Employees

Ethics

Environment

Sales revenue
Financial community
(@), (), (. (g)

(b), (d), (e), ()

(@) (®), (c), (d)

(c). (e), (). (g)

fordft e o faere =1 g o ofe faredt OEieR
¥ ISt W F1 Gk 98 %1 A0 GEE
&1 | TR B § o SHH WHINE B

98 9IEER 991 99 qHE €9 H o
AR

(A)

(B) SHEI G WY F WY wg T fgar s
g

9 WERER 3 T T 9w ufer g
Bl

ot 39 Y1 3 TR g 3

(©)

(D)

= ° | gifafes faum smand F fises
fauue & fau g= 9ot w1 e
HIfa

(a) WEE
(b) e 3R U W=
(c) =H=ERI

(d)  ifaemes

(e) AR

(f) Tersht Torm

(g) faim wem
(A) (@) (). ®) (8
(B) (b), (d). (e). ()
(©) (@), (b), (), (d)
(D) (o) (), (), (g)
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13. Match the items of List - I with those of ~ 13. §eit- 1%} 72} =1 el - I F1 "7 % @y

List - IT and indicate the correct code. gafea #ifed 5 F ¥ W@ IW F 9
HifST |

List - I List - II it - 1 et - 10

(@) Make or buy decision (i) 80 A (a) W @F euifeq (i) 80I A(®m)
of goods (Section) F I F B

(b) Shut down or (ii) Set off and (b) =HIEME §g (ii) I qfd
continue of carry FHT A1 =] @ 3R 3% 3
business forward of & S

losses

() Renewal or (i) Section-32 () WHufwdl w1 FHAE (i) wwI- 32
replacement 1 YA
of assets

(d) Undertakings (iv) Production (d) YRy S (iv) SeI_A &rHar
engaged in capacity % fowm ¥ LE R
development of and cost Y 39shH
infrastructure )
Code : F:

@ (b) (o) (d) @ () (9 (d
(A) Gv) (@) @) () (A) (v) (i) @) ()
(B) (v) @) (@) () (B) (v) () (i) ()
© @ @ @) (i) © @O @) (@) (iv)
(D) G) (@) () () D) @) @ () (iv)
SPACE FOR ROUGH WORK / T% %18 & fod e
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14.

15.

Which of the following statements is not
true in the context of Average Cost and
Marginal Cost curves ?

(A) Both the Average Cost curve and
Marginal Cost curve are U-shaped

(B) When Average Cost falls Marginal
Cost is more than average Cost

(C) Fall in Marginal Cost is related to
one unit of output while in case of
average cost fall is spread over all
the units.

(D) If Average Cost is constant
Marginal Cost must be constant.

Price at which stocks are sold to investors
by the investment banks is called :

(A) Spread
(B) Gross proceeds
(C) Net proceeds

(D) Earnings before tax

14.

15.

3 @ Ud S @ 9 % ges |
7 5 3 F-w vy @ T 82

(A) 39d @M 9% wE HEia @ 9
S U-3ThR % &

(B) S 3itwa @ firar & dmig @,
e T ¥ e g 3

(C) ¥Hid e ¥ e, seeqe ¥
THTE W eIl B ¥ W s A
& "Wl ¥ fIEe wvft sodai =
AR

(D) 3 sia @ feer gran &, o dmig
@ <t feer g wfe )

ﬁﬂmﬁaﬁmﬁﬁmﬁﬁﬁmmmw
T & =94 I FEd ¥ -

(A) FER
(B) WeheT ifterar
(C) fraet wiftaat

(D) ¥ qF e FE

SPACE FOR ROUGH WORK / T% &1d % &y wrg
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16. Different countries and cultures have 16. fafy= e ﬁ?ﬂ@ﬁrmﬁ‘cﬁﬁtﬁaﬁﬁl
taken different attitudes to the concept of %I Hhew & fou fafus SFHUTOMT &t &
ecological responsibility, resulting thereby THE Ty € ;
in:

(A) transfer of production from (A) fohfaa g & fammsia e =
developed countries to the SR T T |
developing countries

(B)  resistance to use green products (B) @@ 3R % S9dmT W wiiwy

(C) improved corporate social (C) wfvgfesd amfesw g fadafat
responsibilities

(D) shutting down of production (D) 3ured giawsti o wee
facilities

17.  According to Gordon's dividend model,  17. &7 3 wwiv gfrey (model) F 1R faHt
a firm is said to be a declining firm if : T 1 3T HH R ST AT
(A) K>r (A) K>r
(B) K<r (B) K<r
(C) K=r (C) K==
(D) K=1/r (D) K=1/r

18 Memorandum of Association is defined  18. =t sififirem, 2013w (FHiTE
under which Section of Company T THITURR) forg amr F wftaifm foran
Act, 2013 ? T2
(A) Section 2(55) (A) 1T 2(55)

(B) Section 2(56) (B) =W 2(56)
(C) Section 2(57) (C) T 2(57)
(D) Section 2(58) (D) T 2(58)
SPACE FOR ROUGH WORK / 7% & % fordr s
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19.

20.

Out of the following which one is not the
technique of price level changes

Accounting ?

(4)

(B)

©

(D)

Current Cost Accounting (C.C.A))
technique

Current Purchasing Power (CR.P)
accounting technique

Current Price Detoriation (C.P.D.)
accounting technique

Replacement Cost Accounting
(R.C.A.) technique

Types of non-tariff barriers are :

(@)
(b)
()
(d)
(e)

Government Procurement
International Cartels
Technical Barriers
Specific Tariff

Transit Duty

Which one of the following is correct ?

(A)
(B)
(©)

(D)

(b), (c), (e)
(©). (d), (e)
(@), (d), (e)
@), (b), ()

19.

20.

= 4 4 1 & e 909 = whed

i ! THATF TE & 7

(A) I ANE SEiH qwArH

(B) I %4 vfed ST asis
(C) =] e frree sais awis

(D) VeI @Fd Si@iFT s

- s F yER
(a) EEHTY =rRpedt

(b) SR F=E

(c) et amemd

(d) fafme wye

() dREET ¥

frafefes 3 & S @ 37
(A) (b, (), (e)

B) (), @), (o)

© (@) (@), (e)

(D) (a), (b), (c)

SPACE FOR ROUGH WORK / T% %14 & forar e
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21. Match the following : 21
List-I List-11
(@) Optimal (i) Durand (a)

capital structure

(b) Optimal (i) Markowitz (b)
dividend payout
ratio
(c) Optimal portfolio (iii) Walter ©)
(d) Optimal cash level  (iv) Baumol (d)
Code :
@ (b (o) (9
(A) @) @) () (i)
(B) () (@) (@) ()

© Gv) @) @) @)

Frefafaa =i gifem =i .

-1 el - 11

Faq Ui g i give

FEAH I P (i) AREITEZS
Tan e gt (iii) A=
(IEwiferr)

FEAH G 'R (iv) age

@ () (© (@@
(A4) @ @) (@) (v)
B) O @) @ (v

© Gv) @) @@ @

(D) (i) @) () (iv) (D) (i) () (i) (iv)
SPACE FOR ROUGH WORK / 1% &d & ford srme
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22, Match the following : 22, ffafes #:i gafeaa sifag

List - I List - II it - 1 et - 11
—Medi =
(a) Pearson’s first (i) Satgi;:; dejf;;l;i (a) Toaes &1 (i) %(1::; At )
measure of AY=ar F
skewness W HY
(b) Pearson’s second (i) D%;?_l[—)—lxgi (b) oo &1 (i) 99—;)?1—];13(3—2
measure of Eitnien
skewness QEU HY
P Mean—Mode =
W ) midoior () W A sl !
coefficient of W
skewness
/ : (Q3-2Q,+0Q;)
S Y T @ wmtem ) @000
¢ Q3-Q
coefficient Y
TR
of skewness
Code : E&E
@@ (b (© () @ (b) () (d)
(A) (@) @) @ (@) (A) () @) @ (iv)
(B) () (@) (@) (v) B) ) @) @ @G
(€ @) @) (Gv) (i) (© @) @) (v) (@)
(D) (v) @) () (i) D) Gv) @ @) (i)

SPACE FOR ROUGH WORK / T% &T4 % f&d sme
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23. IfP/V ratio is 40% and marginal cost of 23, fe firct SIS T /AT ST 40%
a product is ¥ 30 the selling price of the HW@WW?SU%?P!W%WH@
product is : B :

(A) T70 (A) 70
(B) ¥ 80 (B) T80
(C) 50 (© 250
(D) *72 D) T72

24.  The authority to issue various policiesin  24. fafy= ifeat #1 st w03 Eal ey
which of the following does match - frefafes § 9 $9-m gifaq Fa 2
(A) Credit policy and - RBI (A) o =i oo gz Hif - s o,

monetary policy
(B)  Fiscal policy - Ministry of (B) Tt i - snforr waery, wma
Commerce, HIHR
Government of India
(C)  Foreign Trade - Ministry of (©) foceit smm ifs - anfor wiser, ww
policy Finance, HIHR
Government of
India
(D) All of the above (D) 39gaa gt
SPACE FOR ROUGH WORK / 7% =14 % forir E
Set - A 9210/TFU-COMM/ELG-I1



25. The is an annual record of 25, T&Hl <o &1 % 99 d Ty g i
international receipts and payments of a HITam, 1 TF Tt S §1
country during a year.

(Select the appropriate alternative to fill (feor = =1 qfd & fem 9 fawme
in the blank) )

(A) Balance of Payments (A) YTEH e

(B) Balance of Trade (B) SAMNR Hge

(C) Capital Account (©) f{?ﬁ wEl

(D) Annual Budget (D) =1 ==

26. Span of control refers to : 26. T fawgfa fdw saan 7

(A) the number of subordinates an (A) srfaeell #1 dem 99 o sifmme
executive can effectively control gurEt w7 ¥ e w5 g ¥
(B) the number of layers in an (B) U {3 US-TIM H T H @
organization hierarchy
(C) the number of divisions that the (©) faur =1 & 8w e gt
organization can effectively form ®9 4 fmafor %3 Hepar &
(D) None of these (D) TTH 9 FIE TE
SPACE FOR ROUGH WORK / T% &Td & fordt sme
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27.  In accounting the policy “Anticipate no

profit and provide for all possible losses”
isa:

(A) Convention of materiality

27+

EFA 7 T g s g
TS B % oy wraem w5 i

(A) HE HT Ry

(B) Convention of consistency (B) frafhaan =} o
(C) Convention of conservatism (©) wafamm %1 wep
(D) Convention of disclosure (D) wes =t wrEy
28. Henri Fayol has suggested 28. B FEe 3 & & gayq
number of management principles. et =t weafam foray o
(A) 12 (A) 12
(B) 14 (B) 14
(C) 16 (C) 16
(D) None of these (D) 3w H ¢ 7
29.  The surplus of sources of Funds in Fund 29, Y Y faam & HIY Hd T B i
Flow statement state - A€ :
(A) Borrowed Funds (A) R ford 7 =iy
(B) Increase in Fixed Funds (B) et i # gfg
(€) Increase in Fund Payments (C) = yrami 4 5fg
(D) Increase in Working Capital (D) =it gsft & 5fg
SPACE FOR ROUGH WORK / T% #T4 % ferg e
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30.

31.

The main Act that regulate the insurance

business are :

(A) Insurance Act and IRDA Act

(B) Life Insurance Act and IRDA Act

(C) Insurance Act, IRDA Act and

Indian Contract Act

General Insurance Act, IRDA Act
and Indian Contract Act

Which one of the following is not a theory
of International trade ?

(A) Ricardian theory of comparative

cost

(B)

Theory of Reciprocal demand
(J.S. Mill)

(C) Opportunity cost theory (Haberler)

(D) None of these

30.

31.

wF yq@ st S e seEE = Rt
FEAE :

(A) s sifufe it s LT
sfufrad

Faq o sfufEm @R e,
Afafrag

(B)

ot sAfafas, g smEe, sAfufas
3R W dfaer syt

(©)

g & Afufiem, eme.em ey,
sfufay 3R g wfas sifufrm

(D)

e § 9 ST W AR w5 fHgE
T e?

(A) ferEl #1 gerens e fagi

(B) wreEaE Wi w1 fagia (S.wy. fie)

(C) Taw @rm fagid (oer)

(D) ¥ § FE T

SPACE FOR ROUGH WORK / T% &4 & fora smE
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32.  Sections related to Tax deducted at source 32. 3TM WM W H FHdt F Gafed yrrd
are : g
(A) 190 to 196 (A) 190 ¥ 19
(B) 190 to 194 (B) 190 & 194
(C) 192 to 19 (C) 1929 19
(D) 191 to 19 (D) 191 ¥ 19
33. Bonds that are denominated and pay  33. WuTH W 3k gew W fasifig e T |
interest in one currency and are IR T e 21 § =1 YT B @
redeemable in another currency are #Ar g T 7T el H e faran o
termed as : Qﬁamaﬁ%ﬁ%
(A) Yankee Bonds (A) IiF Fygy
(B) ECU Bonds (B) ¥#HLy. gy
(C) Dual Currency Bonds () et ger sy
(D) Double Benefit Bonds (D) T Y Fygy
34. Which of the following is the minimum 34, RS & U gan faad safea 53
number of persons required for a HAETIEHAl Bt 2
partnership ?
(A) 6 (A) 6
(B) 8 (B) 8
[y 2 € -2
(D) None of above (D) 3w § 4+ 7
SPACE FOR ROUGH WORK / 7% &1 % fo e
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35

(@)

(b)

36.

iMatch the items of List-1 with List-II

indicate the correct code of matching :

List - I List - II

FEMA (i)  The right to value
or consideration

Consumer (i) 49 Sections

Protection Act

Economic (iii) Judiciary Powers
Environment
Political and (iv)" Industrial Policy
Government
Environment
Code :
(@ (b) (c) (d)
(A) (iv) (D) () ()
(B) (@) (@) @) (v)
€ @ () @v) (i)
(B) @@ @ (v) (i)

The sensitivity of return on capital
employed to changes in the level of
current assets is called :

(A) Operating leverage
(B)
©

Financial leverage
Working capital leverage

(D) Current assets leverage

35.

36.

HEit-1 3 gE-11 % Ha) &1 gAfad i

wE wet e % Fe &l 9asd ¢

el - 1 HE - 10

Al (i) | YT wiawe
&1 AR

SUSraT TR 49 yrd

HAfufqam
aifefer gafeor

(i)
(iii) =nforen wifemal

EAE B 11T e 8
TR gHa

(iv) frenfis ifa

@
)
i)
©

@ 6

(iv)
(iv)

T 9t 6t ' uftadT o % fo
;@ﬁmuﬁwaﬁﬂ%ﬁvﬁaﬂm
(A) uf=reH @y

(B) fasiia @y

(C) it dsft amw

(D) e uftgrafy oy

SPACE FOR ROUGH WORK / 1% @14 & fod smg
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37.  Inthe early stage of product life cycle,the  37. 3 Sftem Wk % Wi @ § 399 whpimh
highly competitive industries follow ; e SR FIATE
(A) Expansion strategy (A) fawr wrfa
(B) Diversification strategy (B) Tafaeraor orify
(C)  Functional area support strategy (©) vFmEiF &5 gaefa =t iy
(D) None of these (D) 399 4 #rE 75
38. Statement - I : Minor income is exempt 38. WUT - I: FETF F o7y <1500 9% 3T
to the extent of ¥1500. T B €
Statement - II : Income of 1500 of a HIT - 11 : TF a9 T 1 H19 21500
minor child shall not be included in the wﬁwmﬁmm"rmﬁqﬁﬁ@ﬁ
income of his mother or father. ST |
(A) Both statements are correct. (A) =T e wEt ¥
(B) Both statements are incorrect, (B) &I Y e ¥
(C) Statement-I is correct while (C) T - 1€ € iR waT - 1177 3
Statement - II is incorrect,
(D) Statement-I is incorrect while (D) T - 17761 @ 3R e - 11 wdt &
Statement - 11 is correct,
SPACE FOR ROUGH WORK / % % % fort g
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39. Ina test the probability of type T erroris ~ 39. s W& & 2189 - [ 3fe %1 a1 0.01 1
0.01 and the probability of type II error is AT 2189 ~ 11 Jf2 =1 ifaekan 0.05 & & qtam
0.05. Then the power of the test is : HI ufe ©
(A) 0.01 (A) 0.01
(B) 0.05 (B) 0.05
(C) 0.99 (C) 0.99
(D) 0.95 (D) 0.95
40.  From the following activities, find out the ~ 40. fr=Aferfia fFaheidi § & faeft fafma smm
functions performed by a foreign B wef¥| fore =l =y <I3 :
exchange market :
(@) Provision of credit (a) R H HEYH
(b)  Issue of foreign currency (b) Torceft ge =t W Fo
(c)  Provision of hedging facilities (c) wfaeero gfawneii & wraym
(d) An OTC market (d) OTC 9=k
(A) (a), (b) and (¢) (A) (@), (b) 3R (c)
(B) (a), (b) and(d) (B) (a). (b) 3 (d)
© (@) () and (d) © (@), (0) 3R (d)
(D) (b), (c) and (d) (D) (b, () ¥R (d)
SPACE FOR ROUGH WORK / T% &4 & ferd we
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41.

In which sequence the following stepsare  41. et s | H-H1 =0 Had goft
followed to ascertain median for F o mfeger YR s ¥,

continuous series ?

(a) Frequencies are made cumulative (a) SRS & 54t 5w ST &1

(b)  The median is located in cumulative (b)  Helt aaTE e o w5 T
frequency column and it lies in that Bl ¥ 3R % 3t ot A 91 ST & |
class

N

()  The median is known by finding out (c) wferem =i s Sy . 2 9 WE W

N™ jtem F F WA F e g gy 2
2

(d) Median is calculated by applying (d)  BIfen % wEnT gRy Al =5 fEwe
the formula e e &

Code : he

(A) (@), (b), (c), (a) (4) (@), (b), (c), (d)

(B) (a), (c), (b), (d) (B) (@), (9, (b), (d)

©)  (©, ®), (), (d) ©  (©. (®) @), (d)

(D) (@), (©), (b), (a) (@) (d), (), (b), (a)

SPACE FOR ROUGH WORK / T wE F fod s
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42,

43.

Assertion (A) : Flexible exchange rate
involves deflationary effect.

Reason (R) : Flexible exchange rate
promotes international trade.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following statement is
true ?

(A) Goodwill of a business is not
deemed to be a capital asset.

(B) Contribution to a political party is
allowed expenses.

(C) Annual value of a house every year
remains the same.

(D) Deduction for
allowance is availed by govt.

entertainment

servant.

42,

43.

Ao (A) : 7= fafma 2 saerifa guE
wftwfed @@ €

RO (R) : 79 fafme @ o =mr
1 WieHIeEd w1 1

(A) (A) W& (R) S T E 3R (R), (A) F
e T B |

(B) (A) WS (R) THI WEl & g (R), (A) F1
el T T8 B

(C) (A) T €, T (R) T B

(D) (A) TTerd €, W (R) W& 21

frfafeas 4 4 =9 9w g £2

(A) =R F Enfa F1 Yt gufa & am
T Wl |

(B) TrsHifaes Wrel @l faar wn wer wiga
=4 ¥ |

(C) WehH HYfH =1 Aftier He i TuH
BAE

(D) WARSA W I 2 TR FHERT HY
frrerdt 21

SPACE FOR ROUGH WORK / T% &Td & o s e
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44. Match the items of List - I with those of 44, el - 131 #a1 &1 gl - 11 % w2 @ e
the List - II and indicate the correct FitE T W@ %2 3w i
code.
List - I List - II et - 1 et - 11
(@) Clubbing of income (i)  Transfer of (a) ™ F1 oM (i) Ffe 64 =
US 64 T
(b) Exemption of capital (i) Benami (b) = g YA (i) STH SRR
gains transaction
(©) Medical Insurance (i) Normal (c) wreAsmdifE (i) @R
Premium maximum s1fraay
limit ETIGH
T 25,000 % 25,000
(d) Donation (iv) Section 80 G (d) =<H (iv) 980G
Code : %< ;
(@ (b) (c) (d) @ () () (4
(A) () @) (i) (v) (A) @ () () (iv)
B) @) @) @) (v (B) () @) (i) (iv)
© @) @v) @ i © (@) @v) @) (i)
(D) (v) () @) (i) (D) (v) @) () ()
45. ‘Esprit de corps’ as a principle of  45. WeuH fasia % &9 & ‘aforz = Hiq' #
management implies : e g
(A) Coordination (A) HH=Y
(B) Formal order (B) siiu=nfir wn
(C)  Union of strength (C) HM= & wHIH
(D) Goal direction (D) =& fadem
SPACE FOR ROUGH WORK / T% T4 & fordt s
Set - A 24 9210/TFU-COMM/ELG-II



46.

47.

Assuming the normal distribution,
suppose that a 95% confidence interval
for mean is (50, 60). Which of the
following could possibly be a 99%
confidence interval ?

(A) (48, 58)
(B) (48, 62)

(C) (52, 62)

(D) (52, 58)

Which of the following does not cause
disequilibrium in Balance of Payment ?

(A) Lack of import substitution

(B) Payment of debts

(C) Lack of exports

(D) Unsatisfactory use of human
resource

46.

47,

g T4 gU o yam= sz §, | i are
% fam 95% favaraa, siawe (50, 60) ¥
FrfafEa 5 we9ad: 99% fovaraa siaue
Bhm

(A) (48, 58)

(B) (48, 62)

©) (52, 62)

(D) (52, 58)

frefafed 5 | #9 @1 e & 99 §
STHIAA 1 HR @ € 2

(A) ST ST = A9

(B) ZEUT &1 YaE

(C) Trafa 1 w1vmE

(D) WME HEYA F FAHAGSHS STE

SPACE FOR ROUGH WORK / T% &md & ford sme
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48.

49.

Statement - I : Advance tax is calculated
on previous year income.

Statement - II : If estimated tax payable
after T.D.S. is not exceed to T10,000 then
advance tax will not be paid.

Statement - III : Second instalment of
advance tax payable in case of assessee

fall due 15' September.

(A) Statement - I and II are correct but
Statement - 111 is not correct.

(B) Statement - II and III are correct
but Statement - I is not correct.

(C) Statement - I and IIT are correct but
Statement - II is not correct.

(D) All the statements are correct.

Which of the following is not a non-tariff
barrier of foreign trade ?

(A) Export quotas
(B) Product valuation
(C) Protective tariffs

(D) Multiple-exchange rates

48,

49,

AT - 1 : AT FT T T T 9 F ayy
e &

FET - 11 AT ST W & - s

éaa;raﬁum?m,oooﬁ‘ﬂ%,?hmqm

& g R |

TR - 111 : T AVt 3 SHeman & for aifimy

! g o =1 2 fafy 15 fgaran

(A) 719119 § Safw wer - 111
T A&

(B) -9 I 98 ¥ waf s -
e T

(©) =aT-19 11 W&t ¥ Fafr o - 11
e & &

(D) W+t Fyw W &

ﬁﬁ%@aﬂﬁﬁqmﬁéﬁﬁwwm
Ted semd =4 & 2

(A) Trfg sl

(B) SR HeuieR+
(©) wUam e
(D) wg-fafma e

SPACE FOR ROUGH WORK / T% ®r % fory e
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50.

51.

52,

The Theory of comparative costs was first
propounded by

(Complete the sentence by choosing
appropriate words to fill the blank)

(A) David Ricardo
(B) Ohlin
(C) Robinson

(D) Alfred Marshall

If a partner contributes in a partnership
business, then his status in firm is :

(A) Partner
(B) Employee
(C) Creditor

(D) None of above

Which of the following is not an
international financial institution ?

(A) IBRD
(B) IMF
(C) IDBI

(D) IFC

50.

51.

52,

qecH® ara & fagia &1 wdyay
oW yifea feen

(T s =it gfd sugsa s+ 971 T
Fifsre)

(A) 2oz fre!
(B) efefer
(©) e
(D) ke "N

HiFer =EyaE § A% T 9EEr 9neE S
2, @ wH A s Rufa At 2

(A) WERR &
(B) e =
(C) FRR &t
(D) 39U H | HIE &

Fefafea # 9 39 W siaie fad gwen
T €2

(A) oS aARE
(B) oTE.UR.UW.
(C) o Ehetan
(D) SEuwEH.

SPACE FOR ROUGH WORK / T% &Td & f&d s
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53. In a Company if current liabilities are  53. fagt Fert § #fe =] <faed T 3,00,000
% 3,00,000 and current ratio is 3 : 1 and T A, ATIE 3 2 1 U S S 1: 1%
quick ratio is 1 : 1 then value of stock will Al S WhY I o BT
be:

(A) 80,000 (A) T 80,000
(B) ¥ 60,000 (B) ¥ 60,000
(C) 50,000 (C) T 50,000
(D) T 90,000 (D) % 90,000

54.  Which of the following is not Marketable 54, fyefefag ¥ & FH-W a3 wfwufy &
Asset ? 2?2
(A) Share (A) ¥R
(B) Government Securities (B) w=[t wfayfaar
(C) Bonds (C) =Ygy
(D) Provident Fund (D) wfesy fafy

55. Assertion (A) : Correlation coefficient 55. 3fvewes (A) : FE-Hay o +1 3R 1
varies between +1 and —1. F gy yfiEffa B &)

Reason (R) : Regression coefficients ST (R) : HHIFAV] 7075 T + 1 3w — 1
range between +1 and —1. & WA TR |
(A) (A) is correct but (R) is wrong. (A) (A) & B, TG (R) Tom &1
(B) (A) is wrong but (R) is correct. (B) (A) e ¥, WY (R) wE &1
(C) Both (A) and (R) are correct. (C) (A) 3R (R) < =&t ¥
(D) Both (A) and (R) are wrong. (D) (A) #FR(R) i 7Terd &)
SPACE FOR ROUGH WORK / 1% &1 % o v
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56.

0

Assertion (A) : Devaluation in general is
resorted to increase the exports.

Reason (R) : It makes exports cheaper.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

Which new Indian Accounting Standard
provides standards for (i) Intangible assets
and (ii) Earning per share ?

(A) AS 38 and 33
(B) AS 28 and 40
(C) AS 38 and 101

(D) AS 40 and 101

56.

57.

Afusmam (A) : 3o, amra: faf o
gfg % o fman s 21

SIOT (R) : F7 Fafa 1 W& o= ¢ |

(A) (A)TH (R) < TE € 3R (R), (A) F
el T F

(B) (A) T (R) THi WEl € Wi (R), (A) F
TE TIEH TR B

(C) (A) W& &, T (R) o &1

(D) (A) I &, W (R) §et 71

FH H T WA AR G (i) S
Hefadi v (i) ufa 9 o7 @ wefifa @
F HHF I &2

(A) AS 38 3R 33
(B) AS 28 3R 40
(C) AS 38 3R 101

(D) AS 40 3R 101

SPACE FOR ROUGH WORK / T% &Td & fod sig
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58. Following is the use of Business 58, ﬁnhﬁqu#aﬁaﬁmmmmmw
Economics in the area of decision oH o g & 2
making :
(A) Understanding the external forces (A) - sreiemeresn ¥ o wiitm @ wwem
in the economy
(B) Knowledge of costs incurred (B) <A 1 IH
(©)  Profit planning (C) =Y farem
(D) Sales forecasting (D) fomwz ‘Fﬂ':[ilﬁ
59.  Match the items of List - I with those of 59, eI - 1 Y i = Tl - 11 %1 751 % wy
List - II and indicate the correct gifer #ifd 7 %31 ¥ Wl 50 = ERE|
code. ity |
List - I List - II eI - 1 el - 11
(@) Tax management (i) Under-statement (@) T yay (i) =@ % 9 feam
of income
(b) Tax avoidance (i) Deduction of tax (b) = 9fER (i) ST & WFF
at source : FHerdt
(c) Tax planning (i) Misinterpreting (c) = famm (i) TFHT Al &
the provisions of ' WS T Tera
the income tax act A
(d) Tax evasion (iv) Legal and moral (d) = rus=ET (iv) =T = Sl
way of tax saving 3R A alten
Code : : Q‘d‘ . | .
@ ® ( @ @ ® © @
(A) @) @) (v) () (A) @) @) Gv) )
B ™ 6 @) @ B v O @) @
© @ @ Gv) () © @ @ ° @Gv) (i)
@) @ () (@) () D) @ Gv) (i) )
SPACE FOR ROUGH WORK / T% &7 & ford e
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© 60.

(a)

(b)

(d)

61.

Match the following : 60.
List-I List-II

Single investor (i) 3 parties (a)
lease

Leveraged lease (i) 2 parties (b)
Cross-Border  (iii) Finance lease (c)
lease

Full payout (iv) International (d)
lease lease

Code :

@ () (9 (d
(A) @ @ @) ()
(B) () @ Gv) (i)
© O @ @ @)
(D) Gv) @) @ (@)

When the past data is projected into the  61.

Future, without explaining the reason for
Future trends, it is known as :

(A) Partial Forecasting
(B) Mathematical Forecasting
(C) Naive Forecasting

(D) Trend Projection

GIEEASIE] (i) 2wfém
H1-ur effs (i) T <fiw
EURSUCIERIE | (iv) oy s
E T

(A) @ @) (@) (i)
(B) @) () (v) (i)
© ) @) @ (v
(D) (@v) @) (@) @

e & Jafeal % FR0 F1 o 7 59 U
o8l ya-7a = 1 ufasy o wafe 50
FFEA € :

(A)  sTifes gt
(B)  TIOWit Qe
(C) W& YAy
(D) wef wfrsm

SPACE FOR ROUGH WORK / T% &4 & fod wme
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62.  Which of the followin g assumption is not
related to consumer behaviour based on
the cardinal utility approach ?

(A) Utility cardinally measurable

(B) Maximization of satisfaction with
limited money income

(€) Diminishing marginal utility of
money

(D) Rationality

63. Which of the following statement is
correct ?

(A) A partnership can be a general
partnership

(B) A partnership can be a particular
partnership

(C) (A) or (B) anyone

(D) None of these

62. T IV YR F YR W e F @
T -Ht e, SUviR SR @ et
€7

(A) ST QurE: Ty ¥

(B) wfad w7 a1 & ww wafe =1
At aHTHT
(C) 41 % Hroia syifirer =1 S

(D) a&HETa

63. ffafmad s mwmamd 2

(A) TR, T AEER 3w #

(B) WEIEr, U fafire akR & gt &

(C) (A) = (B) #E T

(D) SwEm 9 FE T8

SPACE FOR ROUGH WORK / 7% &4 & fordt s
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64. The concept of accepts the  64. H1 yron, snfde fowm &
limitations of marketing philosophy, oo e &t |, fagom @5 e
acknowledging the need to impose AT B ARTGT F FI AETIHA F
regulatory constraints on the market AT Y8 HA (39 29 iR wiegd)
mechanism in economic development fadwes @ yfa w fagom wfafafedi &
(Van Dam and Apeldoorn), particularly e TR I B |
the impact of marketing activity on the
environment.

(A) Ethics (A) e

(B) Green marketing (B) =i fauum
(C) Sustainable marketing (C) gy fagom
(D) TQM (D) TQM

65. The major suppliers of trading  65. YSIId SISIR & SHTIR ST F T8 JRAFR
instruments in the Capital Market are : ¥
(A) MNCs (A) UH.UAHL
(B) NBFCs (B) THA.STERHL
(C) Fls (C) .33, 37,

(D) Government and Corporations (D) ¥R wH fm
SPACE FOR ROUGH WORK / T% &4 & fora smig
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66. Which of the following attributes is/are
correct with regard to Money Market ?

(@)
(b)

(©)

(A)
(B)
(&)

(D)

It is a market for short-term funds.

Maturity of the instruments in this
market is above one year.

Its basic function is to provide
efficient liquidity position for
financial institutions, mutual funds
and insurance companies.

Any financial institution can issue

money market instruments without
license.,

(a) and (b)
(b) and (c)
(b) and (d)

(a) and (c)

67. Which of the following is not a feature of
the Consultative Style of Management ?

66. ﬁwﬁﬁaﬁﬁﬁﬂm@aﬁamw%
Hey o wr &7 2

() & sreumEty ffy e amem )

(b) ¥ AR § SuFl it fsear o
e & FW |

(c) fadita deamd, wewmit fafy sii <
A 1 el e f i ser e
THH gAd F ¥

(d) ﬁéﬁﬁﬁa@ﬂ@h%hﬁm
TSR ITFION Y S 2 o1 &

(A)  (a) 3 (b)

(B) (b) 3R (c)

©)  (b) 3 (d)

(D) (a) &R (o)

67. ﬁqt%rﬁaaﬁ@aﬁqmuafuq?mmfmm
reft At fersrerar e & 7

(A)  Motivating Employees (A) FHEIRE # Greafea s
(B) No upward Communication flow (B) SeETH WYY yaTE ER RIS
(C) Downward Communication flow (C) 1Tt o yare
(D) Managers acting as Consultants (D) wrwefeErs & w9 F yeiyw =
HTER
SPACE FOR ROUGH WORK / 7% #1d % forg T
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68.

69.

70.

In year 2018 Government of India
allowed FDI in single brand retail
through automatic route is

(A) 51%
(B) 49%
(C) 100%

(D) None of these

Point out from the following pair which
does not match ?

(A) IMF - Bretton Woods Conference
(B) SAARC - Dunkel proposals
(C) WTO - GATT

(D) EXIM Bank - Finance for imports
and exports

Share forefeiture account is a ;
(A) Real Account

(B) Personal Account

(C) Nominal Account

(D) None of the above

68. =¥ 2018 H WA WIHR J Tl THed g A

69.

70.

e AT | TE.ELeE. # emwa @
S |

(A) 51%
(B) 49%
(C) 100%

(D) T8 ¥ =g T

et B @ - et e

(A) IMF - foea 989 #i iy
(B) SAARC - EFHal JEIIEH
(C) WTO - GATT

(D) EXIM &% - 319w 8iR fafa & fa
faa

391 T W R

(A) arfas @
(B) =fera @
(C) ErE @

(D) Se ¥ 9 518 T8

SPACE FOR ROUGH WORK / 7% 14 & fod 5g
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71.

For qualitative data, the most suitable 71.

measure of central tendency is :
(A) Arithmetic mean

(B) Geometric mean

(€) Median

(D) Mode

o &2 % fo, =19 yafa w1 waifis
IYGNT HY € :

(A) HHIW A
(B) wHIfHd e
(C) wifer=m
(D) wEeH

72.  The amount of gold, reserve currencies 72, @i faw =R ¥ sifm fiffe oo 3
and special drawing rights available for [, 591 gEId U fafine s F sifysn
the finance of international trade is ] FEd €
known as :

(A) Special Drawing Rights (A) faftre sy sifusr
(B) International Liquidity (B) iR dteran

(C) International Finance B (= e faw

(D) International Currency (D) aueE gz

73. A strategy is a promotion 73. U T Yaaq WHEITT & 5
strategy that calls for spending a lot on s A & i & faT fagm o nes
advertising and consumer promotion to TR R Ak =97 e ¥ 49l =g LI
buildup consumer demand. If the Tl @1 1, T F B IS 1 TEF T
strategy is successful, consumer demand Q|
will move the product through the
channel.

(A) Pull Strategy (A) 9o T
(B) Integrated Strategy (B) Wehishd ToTHife
(C) Push Strategy (C) 9w wrifa
(D) Blocking Strategy (D) =TT oI
SPACE FOR ROUGH WORK / 1% & & fordl s
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74. In case of liquidation of a Company for a
recover contributor’s are :

(A) Creditors and debenture holder’s of
a Company

(B) Shareholders of a Company

(C) Shareholders upto outstanding
amount

(D) Al of the above

75. Given the following set of information,
indicate the correct combination to define
the process of perception in order to
understand consumer behaviour.

(a) Selective attention

(b) Selective distortion

(c) Selective retention

(d) Selective apprehension
(A) (a) and (d)

(B) (a), (b) and (d)

(©)  (®), () and (d)

(D) (a), (b) and (o)

74. FHEA UREETT # oW § s ¥ Y
YT W SN F -

(A) FEH % TTER TH HRmE

(B)

©

FEET & IER]

T % 15T T qF oy

(D) 3I9a |t

75. = feu TT yEAed & wqe § 9, suviea
SRR {10 W F fore Sueifer wiwan & wdr
ST 1 SRS FIT |

(@)
(b)
(©
(d)
(A)
(B)
©

(D)

HIATHS  STTYH
JTTeAs fafa
FATHF 0]
TEATHE IS
(a) 3 ()
(a), (b) i (d)
(b). (c) 3R (d)

(a), (b) 3R ()
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76. An exception to the rule of ‘No 76. ‘7 four-fomsd - 7 dfaer’ =1 fgm & fou
Consideration - No Contract/, is : YA @ :
(A) Promise to pay debt (A) R YEE F fore g==
(B) Promise to pay time-barred debt (B) Il R YA & feg o=
(C) Debt (C) =W
(D) Past debt (D) = Fu
77.  Assertion (A): Internal factors of business 77,  3fURY (A) : SHaHIfIF TR F syt
environment are uncontrollable factors. HeF AMEAE T2 B ¥
Reason (R) : The Company can not alter ®UT (R) : F9A1 T =2l &) 9gfawm &
or modify such factors to suit the fere 3ugsa s M ®q uftafda @ deifug =&
environment. & Hehdl §
Code : ETE
(A) Both (A) and (R) are incorrect. (A) (A) 3R (R) 541 Terd 2 |
(B) Both (A) and (R) are correct. (B) (A) 3R (R) SHi wet &
(C) (A) is correct but (R) is incorrect. (©) (A) T8 T TG (R) Tord & |
(D) (A) is incorrect but (R) is correct. (D) (A) 7o ® 93 (R) T&t §1
SPACE FOR ROUGH WORK / 7% @14 & fordl smrg
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78.
(@) Maslow (i)
(b) Herzberg (i)

()

(d) McClelland (iv)

748,

80.

Alderfer (i)

Match the following :
Motivation-Hygiene
Need hierarchy

Existence-Relatedness-
Growth

Need for achievement

Code :

@ (®) (@ (@
(A) @ @) @) ()
(B) @) @) @) ()
© @@ @) @ ()
(D) Gv) Gi) @) (@)

If a Poisson distribution has mode at x =3
and 4, then the coefficient of variation is *

(A) 25%
(B) 50%
(©) 100%
(D) 200%

Which of the following would not be one
of the primary objectives of advertising ?

(A) To inform

(B) To persuade
(€©) To remind

(D) To make profits

78. T=1 =1 faem =ifs .

(a) HREA (i) TCHTEA-gES

(b) wsferi (i) YSHYE T SEYIFA

(c) oeeT® (i) HiEE-Haga-gfg

(d) HwwAS (iv) SYeIfs F sTavaHar
e

79.

80.

@ () (9 (4
(A) @ (@) @) @)
(B) () () (i) (i)
© (@) @) @ (i)
(D) Gv) @) @) @)

A giFe fam &1 agem v =3 R4 W E
a1 far=or =1 Tt B

(A) 25 wfoaem
(B) 50 gfawra
(C) 100 wfawm
(D) 200 wfasma

Frefafea & § F-w1 faamm =1 o mefas
3eva T &2

(A) TR &
(B) ST FTA
(C) T FHTAT
(D) oY FHHET
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81.  For analysis of variance the appropriate ~ 81. et =1 fawerywr & farq Sugae e & -
test is :
(A) Z test (A)  Z TiEm
(B) A test (B) A gligor
(C) ttest (C) tudgo
(D) F test (D) F oitam
82. The first ADR was introduced by  82. W4 HFfT gR1 99w ADR %1 ywarma faan
J.P. Morgan in : RIS I
(A) 1947 (A) 1947 §
(B) 1932 (B) 1932°H
(C) 1927 (C) 19279
(D) 1925 (D) 1925 &
83. Who formulates Basel guidelines ? 83. HAYd Ariee 1 e e fwan?
(A) G20 Countries (A) Sft.20 W
(B) OECD (B) anEiwrEr
(C) BCBS (C) .t uE.
(D) World Bank (D) e %
84. Multinational ~capital budgeting  84. IGUEIA Tt Tz TFAH 1 YA T
techniques are used in : oo <t 72
(A) Foreign portfolio investment (A) Taceit déwife fam faverm
analysis
(B) Foreign direct investment analysis (B) faeeft weam fraw fawerym
(C) Both (A) and (B) © (A)wE (B) S
(D) None of the above (D) W H 9 F5E &
SPACE FOR ROUGH WORK / % &Td & forar v
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85.

86.

87.

Developing a product or modifying an old

product in accordance with the

preference and purchasing power of a
potential customer is termed as :

(A) Customisation
(B) Tailoring the product
(C) Customer centric approach

(D) User Friendly policy

Which of the following is not considered
as objective of IMF ?

(A) To promote international monetary
co-operation
(B) To ensure balanced international

trade

(C©) To
economic growth of member

minimise imbalances in
countries
(D) To

quantum

minimise imbalances in

and duration of
international trade

A Bangladesi Cricket Player comes India
since 2008-09 every year to play cricket
and stays here for 120 days. State his
residential status for assessment year
2019-20.

(A) Ordinarily resident

(B) Not ordinarily resident
(C) Non resident

(D) None of these

85.

86.

87.

Ush Y= UEH o aigdl U8 &9 ufed &
FTER fHet A S &1 fasra sryen
B FiEHT I Fed &

(A) ®fgehu

(B) 3UIE I @
(C) ek Hhigd SuH
(D) 39T FE Hifa

fr=fafaa 9 @ *19-41, IMF &1 3299
T e
(A) sTiE fafaa dm #1 veafed

(B) Hgfer fadiea =mm +1 gfafesm
FHAT

(C) we=a =9l & anfsfe famrm 1 swiqer
I FH BT

(D) I =AMR H1 /=Y ¥ Faizy
T 1 FHH HAT

U SicTe?ll fohehe fEemel 2008-09 9 wiaard
d H foFee @ed i ® i uma # 120
e @ 21 & fauior a9 2019-20 F forw
3Ha! Frarg frafy = anft 2

(A) SR fHar

(B) rErymor frardt
(C) eframt

(D) 3w § | FE 7

SPACE FOR ROUGH WORK / T &4 % fordl o

o :
5‘210/TFU-C0M1\J/ELG-11

Set- A



88.  Which of the following is not an objective
of performance appraisal ?

(A) Performance Feedback
(B) Performance Improvement
(C) Promotions Decisions

(D) Preliminary Screening

89.  Match the following :
(a) F.W. Taylor (i) Bureaucracy

(b) Max Weber (ii) Administrative
Management

(c) Chester I (iii) Scientific
Barnard Management

(d) Henri Fayol (iv) Social System

Code :
@ (b) (o) (d)
(A) () (@) @) (v)
(B) (@) @) (v) (i)
(© @) @) (@v) @
(D) @) () (@v) ()

88. ﬁwﬁ@ﬁﬁaﬁmﬁmaﬁmm
v T 22

(A) Frome wfgfe
(B) frowmem guw
(C) W=y fiofg
(D) WRfve By

89. = =1 faem #ifae
(a) TH.T=]. oW () e
(b) B dER

() TR IE. TAE (i) SPrE

(d) TR T

(a)

A) O

(B)
©

(D)

(i)
(i)

i)

(b) (o) (9

@ ) )

i) (v) (@)

@ (@) @

(i)

(v) (i)
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90. " Assertion (A) : Business risk is  90. IfHUT (A): FEEITIF gy G =

independent of capital structure. | = AR
Reason (R) : Rate of return is not SIOT (R) : YA%e & 37 HEeEl § guifaa
influenced by the sources from which the & B SEl ¥ FIV (fund) 1 Saemd R
funds have been raised. TR
(A) Both (A) and (R) are correct. (A) (A) 3R (R) 31 & § )
(B) (A) is correct but (R) is wrong. (B) (A) W& & W (R) Tord g1
(C) (A) is wrong but (R) is correct. (C) (A)Ted §, Wg (R) Tt &
(D) Both (A) and (R) are wrong. (D) (A) 3R (R) S 7o €1
91.  When does silence amount to fraud ? 91. HHF, F3 B H FRU I & 7
(A) In contracts uberrima .fides (A) 9ol e e |
(B)  In change of circumstances (B) HEEqs & sEeH 9
(C) Only in case of (B) above (C) SWi&d %ad (B) % fawg
(D) - Both in case of (A) ;nd {B) abies (D) 39U I (A) 31 (B) & fawa &

92. The term super financial hub in the 92, dfdu & ded & gR faeiig ga g = F=a

content of banking is called : g

(A) Universal Banking (A) wrEsifes S
(B) Narrow Banking | (B) Henru Afs
(C) International Banking (C) ofauisgia sfdhm
(D) Wholesale Banking (D) o Sifef
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93. If P(A)=05, P(B)=0.6 and P(AnB)=04,  93. afe p(A)=05, P(B)=0.6 3iX P(ANB) = 0.4
then P(A/B") is equal to : &, T4 P(A</BC) It 27 -
(A) 0.30 (A) 030 %
(B) 0.67 (B) 067 %
(C) 0.70 (C) 070 %
(D) 0.75 (D) 0.75 %
94.  Section 138 of Negotiable Instrument Act 94, TR ferad sifufem w5t um 138 3 fg
was amended in which year ? U H wenferd faar w2
(A) 1999 (A) 1999
(B) 2008 (B) 2008
(©) 2001 (C) 2001
(D) 2002 (D) 2002
95. Who proposed the ERG Theory ? 95. ERG g #1 frga weaifag frar 2
(A) Victor H. Vroom (A) fo @, 9w
(B) Lyman W. Poter (B) WmEHA Twg, drex
(C) Clayton Alderfer (C) T ety
(D) McClelland (D) #Heaciere
SPACE FOR ROUGH WORK / T% %1 % forg e
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96.

97.

The central government has so far entered  96.

into agreement for avoidance of double
taxation with many countries. These
agreements may be classified into
following parts :

(a) Agreement for relief from Double
taxation '

(b) Agreement for avoidance of Double
taxation

(c) Agreement for tax planning
(d) Agreement for tax evasion
An appropriate combination is :
(A)  (a) and (b)

(B) (c) and (d)

(©) (b) and (c)

(D) (a) and (d)

The balance of payment account is 27,

conventionally divided into :

(A) Current and non-current account
(B) Revenue and capital account

(€) Capital and assets account

(D) Current and capital accounts

%% G 7 Sl Y § 591 (9fiEr)
¥ fore =2 S9if 3 e g i1 <& fre

(a) B FRIY H Ted ¥ fon seva

(b) TR FRWM ¥ F=E (9FER) ¥ fau
FEE

() = freE & fou e
(d) X ey & fory sewE
3P wAm #

(A) (a) T (b)

(B) (c) 3R (d)

© (b) ¥R ()

(D) (a) 3 ()

WA @4 % 39 %1 ¥ema &9 4 fafaa
Topan =i @

(A) =e] 3R -] @
(B) TS 3R Ysima @i #
(C) sfima SiR wftwufy @ &
(D) e 3 it et
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98. Insolvent has been defined under which 98, w fose sifufiem 9 firg a3 feenferan’
Section of Sale of Goods Act ? 1 wfewifee faar o 22
(A) Section 2(5) (A) 1 2(5)

(B)  Section 2(6) (B) Hm1 2(6)
(C) Section 2(7) (©) ur2(7)
(D) Section 2(8) (D) #m2(8)

99.  According to promotional mix, method 99. WHayw fgy & HIER, Ter Hay = e
which focuses on building relationships o fore Saferren swsimnad % o ey fraror
with individual customers to maintain W g fram e ST ®
lasting relationship is called :

(A) Sales promotion (A) fafsr g

(B) Direct marketing (B) WeAs SR

(C) Direct channelling (C) Y&y HYoirETo
(D) Offline promotion (D) 3iiwarET ad=

100. An act of a partner is that of firm or not  100. WF@ET{WW FH H F E W e e
is a question of : TR
(A) Fact (A) 99 =1
(B) Law (B) fafy =
(C) Fact and Law both (C) e aun fafy 31 =
(D) None of above (D) SWr 9 & #% 78

-00o0- «000-
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I SifRa wA wT AT 2 g { stfermam 37 : 200

Time for marking answers : 2 Hours Maximum Marks : 200

1. 39 Y- 9 100 a5 999 € - wde w9 2 siw 3 ¥ Tt 9eT g O SAfErd ¥

m%m,aﬂéOMRW—sﬂz(m—Qﬁz) R At Fife

3

3. RUNCHS qodi el faRar S |

Wvﬂmiﬁmﬁamaﬁmq&‘mﬁqﬂqmmaﬁh%

Lo

5. OMR IR-3f2 (ME-3ie) mmmﬁ‘mmaﬁ%mmﬁﬂﬁ/aﬁm I8 2 W Tq
I Hrg =1 fawae anfs v T feh wereasy 98 @0 8 |

Note :

1. There are 100 objective type questions in this booklet. All questions are compulosry and
carry two marks each.

2. Indicate your answers on the OMR Answer-Sheet provided.

3. No negative marking will be done.

al

Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-sheet care should be taken so that the Answer-sheet does not get
torn or spoiled due to folds and wrinkles.
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